oL HhYiRE

TA10VO/32RJNEEHER

Variable Displacement Piston Pump TA10VO/32

¥% i® Overview

TA10VO/32 RIILEHER M AREXNMEASETER, 23AHTWHM
ITENM AL, BREAFAXCRKERSZITH, RABMEY, 8E

TAEEAF%28MPa,

T A10VO/32 series variable displacement piston pump swash plate axial plunger
variable pump,respectively for industrial use and for mobile machinery design, is
designed for open loop hydraulic driven design, adopts a shaft structure, rated

working pressure up to 28Mpa.

B

HPHRSMBOHESER, BTFRERFOBRESD
XRBSEHEEHERRELL,

BT SR NA R E AR R,
x BRER T A MR R

T 1 _E R R R B g
HERESR

MARIERKSh

KBHE
MEERSM, Wil E NS E IS E T
8 P B IR

Features

% Variable pump with axial piston rotary group of
swash- plate design for hydrostatic drives in open
circuit

* Flow is proportional to the drive speed and
displacement.

* The flow can be infinitely varied by adjusting the
swash- plate angle.

»* Hydrostatic unloading of the cradle bearings

% Connection for measuring sensor on the high—
pressure port

% Low noise level

»*Low pressure pulsation

*High efficiency

% High resistance against cavitation, loss of suction
pressure and case pressure peaks

* Universal through driv

www.tot-hydraulics.com



oL HhYiRE

RIS 58 Type Code
T A0V O 45 DR / 32 R — V P B 22U B3
1 2 3 4 5 6 7 8 9 10 11

1-45#94> 3¢ Machinery Classification

| WmiEzE, HEM, ATEZE, T Axial piston, swash plate design, variable, used in industry | A0V |

2-iE17##3L Operational Mode
| Fr=L 1% Open circuit | o |

3-#i1%& Size
| “ArHEENomInal displacement mLr | 45 | 71 [ 100 | 140 | |

4-$=2 #1445 Control Devices

B, AAAT Two point control, directly operated DG DG
[ J [ J o [ J DR
N e X-TFHBopen [ ) ® ® DRF
FE71#2#] Pressure Control with flow controller X-TxHplugged ° ° ° ° DRS
HIz 2 E A= HIRemote pressure control ° ° ° ° DRG
Z5MPa (] [} ° ° LA5D
T E AV B5.1F9MPa (] (] ° [} LA6D
T With pressure cut-off
R HIP trol et s N H9.1Z16MPa ® (] e (] LA7D
Ih#&#zHIPower contro T A -
beginning of control H16Z24MPa B . LA8D
#Bid24MPa [ ) ) ® LA9D
NERER), WHEAVIEIZREES .
Power controller with pressure cut-off ThERWBER £ ° ) ) ) LA*DG
remotely operated
IWERYER), wEAVIM, REEH, X-TXH
Poywer ,controller with pressure cut—off flow control, RVEER L ° ° ® ° LA*DS
X-T plugged
EES, wRMREEH, X-TXH .
Power controller flow control, X-T plugged, WRWEER L ° ° ® ® LA*S
electically over-ridable (nega —tive control)
5-%7%l Series
32
6-mEFE 7 ( MEHIRE ) Rotating Direction(View on Shaft End)
JEEF 4t Clockwise R
i AF4$t Counterclockwise L
7-%%f Seals
| FARALVitonFKM v
84 f# Shaft End 45 71 100 140
T 24 {HKeyed shaft DIN6885 o | o | o | @ p
L4 ih{hSplined shaft SAE ° ° ° ° s
g MSimilar to shaftS & & B IR Fh 46 o | o | - | -

El & BHChart shows: @ =] Afitt£Available, O=7E# & HIn preparation, —=7FNot available

www.tot-hydraulics.com



oL HhYiRE

9-%#5i% = Mounting Flange

| 15047 | B |
10- T {£;Hm O Service Line Ports
| it OSAE S OBERMS A, SAEKS, AHEEIIL, &AENED | 22u |
11-@HIR Zh Through Drive 45 71 100 140
T i@ #3R 3 Without through drive ° | ° | ° | ° | NO0O
TiRIRE), MREBRRSTT
With through drive, the second pump connection dimension as follows
RIE= Hhid AIEEZHIMER
Mounting flange | Spline shaft The second pump
1SO80-2 S 3/4in11T16/32DP TA10VS018/31 [ ] [ [ ] [ B2
1ISO100-2 St 7/8in13T16/32DP TA10VS028/31 ® [ [ ® B3
1ISO100-2 S##1in15T16/32DP TA10VS045/31 ° ) ® ) B4
1ISO125-4 S##1in15T16/32DP TA10VS045/32 ) ) ® ) E1
1SO160-4 S#h1 1/4in14T12/24DP | TA10VSO71/32 - [ J [ ] [ ] B8
1S0180-4 S#H1 1/2in17T12/24DP | TA10VS0100/32 - - [ [ B9
1S0180-4 S#hi1 3/4in13T8/16DP | TA10V0140/31-32 - - - ® B7
SAE82-2 U%h 5/8in9T16/32DP TA10VS0O18/31 [ [ [} [ 01
SAE82-2 S#h 3/4in11T16/32DP TA10VS0O18/31 [ [ [ [ 52
SAE101-2 S 7/8in13T16/32DP TA10VS028/31 [ ] [ [ ] [ 68
SAE101-2 S#h1in15T16/32DP TA10VS0O45/31 [ [ [ [ 04
SAE127-4 S#h1in 5T16/32DP TA10VS071/31 [ ] [ ] [ J [ J E2
SAE127-4 S#H1 1/4in14T12/24DP | TA10VS0100/31 - ) [ ) 15
SAE127-2 S#h1 1/2in17T12/24DP | TA10VS0140/31 - - [ ] [ 24
SAE152-4 S#H1 1/2in17T12/24DP | TA10VS0100/32 - - [ [ 96
SAE152-4 S#h1 3/4in13T8/16DP | TA10V0140/31-32 - - - ) 17
#AKEH Technical Data
W2 #3k Parameters Table
% Size 45 71 100 140
HEEDisplacement Vg max mL/r 45 71 100 140
WMAUSEAN(@HER) | BRES Permin bar 0.8 1
Pressure at suction Minimum pressure
port US (Absolute BB8EhH
pressure) Maximum pressure Pamex bar 10
MEEN
P
Hih OBIE 71(483F E 771) Rated pressure N bar 280
Pressure at Outlet IEEEH
port B (Absolute Peak pressure Pmax bar 350
pressure) BINES N i
Minimum pressure
JE /1 4L % 2 Rate of pressure change Ra bar/s 16000
MmO, LES (B3XHES ) N bar »
Drain port L,L1 pressure (Absolute pressure)

www.tot-hydraulics.com



oL HhYiRE

#1E Size 45 71 100 140
HE=Displacement Vgmax mL/r 45 71 100 140
RAHE" Vg= Vg max Mo max r/min 1800 | 1800 - -
Max. speed
Ps = 1bar Vg< Vg maxkt r/min - - 1800 | 1800
L e N =N o maxkt Qvomax L/min 81 128 180 252
BERRE
Max. flow n = 1500 r/min B L/min 67.5 | 106.7 | 150 | 210
BRI N =N o maxHt Po max kw 38 59.7 84 118
Maximum power
(A p=280 bar) n = 1500 r/min Bf kw 31 50 70 98
B A p=280 bar At T max Nm 200 317 446 624
Torque
(Vo= Vgmax) A p=100 bar Bt T Nm 72 113 159 223
it P ) Nm/rad 34587 | 80627 | 132335|188406
Shaft extension P
TR s S 121142|169537
Ttgfrfsmnal Shaft extension S Nm/rad 29497 | 71884
stiffness
i R -
Shaft extension R Nm/rad 41025 | 76545
B ENIRE
Moment of inertia of the rotating assembly J kgm2 0.0035 | 0.0087 | 0.0185) 0.0276
RRAMEE 2
Max. angular acceleration rad/s 4000 | 2900 | 2400 | 2000
FIRAR
Volume of case L 1.0 16 22 3.0
\;i;h;i;ght kg 30 47 69 73
HI%ETorque o4
(VgmaxE A p=280 barfd) T max Nm 200 317 446 6
T Emax Nm 200 439 857 1206
WiE P :
Shaft extension P o - o5 30 40 45
T Emax Nm 319 626 1104 | 1620
gAMLY | WMS
Max. input torque” Shaft extension S ¢ - 1 114 | 112 | 134
T Emax Nm 400 644 - -
iR R ¢
Shaft extension R
aft extension o in | 11/ _ _

1) Vg =VgmaxBtBIEEIE A T WH OSKY#E AE S APs=1bar ( @3xtEH ) BHRER, LikOEDPEmsHEER/N,
U'JJ%EEHFS?JH ’ % #HOESNAPs min=0.8barﬂff ’ %ﬂiﬁj;ﬂd\igo%o Vg<Vg maxwﬁgﬁﬁj‘ﬂ ﬁﬁmﬁao

1) Once Vg=Vgmax,  the value is applicable to the inlet pressure at suction port S is Ps = 1bar (absolute pressure), when the inlet
pressure Ps increase or decrease the displacement,the speed can be in creased,when the inlet pressure Psmin = 0.8bar, the speed
should be reduced to 90%. Vg < Vgmax value when the speed limit.

2) ERFEREANERRESE Fordrive shaft free of radial load

T4 T,

HI%E 2% Torque Distribution

Te

-5 I ==
First pump ! Second pump

To

Ts

www.tot-hydraulics.com




oL HhYiRE

SMERT Mg 45 (#2HIH4ADR. DRG. DFR/DFR1)

Dimensions size 45 (Control devices DR, DRG, DFR/DFR1)

9

E= 6.3

ISO 3019-2 \

@125 -0.063

15.5

<914

=

146
113.2

max. 110

78.5

EE W e M

(R A=

HfH Shaft

S 1E4#%, 15T 16/32DP"?

R 145, 15T 16/32DP"?

(SAE J744) (SAE J744)

38
2 16 ~ 16
o 5 = 5
o S
o (@]
X Q = e
= — S IS ©
i I 1 {T - - S

: ==cc==— bt
30 R 29.5
45.9 45.9

www.tot-hydraulics.com

W ELE

69.9
240

35.7

33

P T4l DIN6885, A8X7x36

28 ,

42 +0.3

39
19

12

—!

+0.009
-0.004

225

Mg

52

@28




oL HhYiRE

i# O Ports IR A& Pmax [bar]| k7
B il AOutlet port SAE J518 1in

ZE#E glFastening thread DIN 13 M10 x 1.5;17(iF) 350 0o
S il OSuction port SAE J518 11/2in

K E M8 4 Fastening thread DIN 13 M12 x 1.75;20(i%) 10 ©
L it ODrain port DIN 3852 M22 x 1.5;14(R) 2 o
L1 jttrjls ODrain port DIN 3852 M22 x 1.5;14(ix) 2 X
X =%l OControl pressure DIN 3852 M14 x1.5;12(iR) 350 o
X $2#lJE S1Control pressure for DG control DIN ISO 228 G 1/4in;12(iF) 280 0
Ms il € £ /1 B Measuring pressure B DIN 3852 G 1/4in;12(i8) 350 X

v DG - R EsHEH
182.8

VY LADS - EA1. SRR
222.6

&S I SR B
R B

v DRG -z #2 & il [ /1 32 5 38

=

& & IS $ 7 % 1)
1 % i B

v ED7./ER7.-8aE N 2§

max. 110 |

& & IS SR 4 5
(B A=

v DRF/DRS 1 EhfimEi= s

B I SR E B
1R % i B

max. 110 |

@ J

&S I £ e ¥ 59
18 % e B

WWW.

tot-hydraulics.com




oL HhYiRE

SMERST #1471 (2HIH1#ADR. DRG. DFR/DFR1)
Dimensions size 71 (Control devices DR, DRG, DFR/DFR1)

B
9 115 Vv
EZ 6 +
1ISO 3019-2
i
LS
o ,\H
: } 0 WAGE
: ey s
S ] o)
) L g 2 o d
I | = S
“; ]
/© \\J ‘
42.9
S
24
w
@18,
(@]
,@ S
i
3 V B
7 f £ 26.2, o
8; i P ‘ 8
| JT & = T
\ Al ] %
8 [Te]
i gl
MB B
107.5 ] 154
EE e
WRHENE
i Shaft
S L4, 14T 12/24DP" R 754250, 14T 12/24DP" b 26 DINGESS. A1OXBdS
(SAE J744) (SAE J744)
47.5
; 50
oy 19 . » 2
% i 22 4% 10
Z | @ 2 25
= o1 (\‘ { 8 3 I — )
) g R .
= A7 2 o B LKz .
5 ==sesrnts S 8 g Hl 2
= ARKE 38
55.4 55.4 o

www.tot-hydraulics.com




oL HhYiRE

it 0 Ports FR Mg Pmax [bar]| k7
B il AOutlet port SAE J518 1in

Z E42 4l Fastening thread DIN 13 M10 x 1.5;17(iF) 350 ©
S il OSuction port SAE J518 2in

K E M8 4 Fastening thread DIN 13 M12 x 1.75;20(i%) 10 ©
L it ODrain port DIN 3852 M22 x 1.5;14(R) 2 o
L1 jttrjls ODrain port DIN 3852 M22 x 1.5;14(iR) 2 X
X #Z#lil OControl pressure DIN 3852 M14 x1.5;12(iF) 350 0]
X #2#) E S1Control pressure for DG control DIN ISO 228 G 1/4in;12(iR) 280 )
Ms il € £ /1 B Measuring pressure B DIN 3852 G 1/4in;12(i8) 350 X

v DG - BrEsHEH

X E&IRE it 1215

R R B

v DRG -z #2 & | [ /1 32 5 88

v LADS - Ef . EMDEES

EE IR $HIE S
(iR A =S

v ED7./ER7.-8aE = 2§

& N S %2 5
R % 3 i B

v DRF/DRS ENFGERH 2

107.2

Jaol,

&S I SR 4 B
R % o B

EE I e
MR E

www.tot-hydraulics.com




oL HhYiRE

MR #8100 (3= #1#aDR. DRG. DFR/DFR1)
Dimensions size 100 (Control devices DR, DRG, DFR/DFR1)

EZ 9

ISO 3019-2 \

; = W EIHLE
g | i
CC; — \
=L
Q i @
3 £
i
22
W
N
~
(@]
i
<
O o .
9 V EALE
[Te]
0 o ]
S &
™~
©
[(e]
118 ‘ 164.9
PER=RU N g =i
(3R VA=
i Shaft
S TE4EHH, 17T 12/24DP" P Fgeth DING885’ A12x8x68
(SAE J744)
_ 54 70
g 28 68
g 9.5 28 #3512
3 - 15
i 7| 2
Q I”I \‘ }‘f Q .
= Z o 83 sty
? So ﬁ Yo}
g gl = 1 \) )
Q
43.5 }
61.9 80

www.tot-hydraulics.com



oL HhYiRE

it 0 Ports FR Mg Pmax [bar]| k7
B il AOutlet port SAE J518 11/4in

% [E| 42 4rFastening thread DIN 13 M14 x 2;19(E) 350 0o
S il OSuction port SAE J518 21/2in

K E M8 4 Fastening thread DIN 13 M12 x 1.75;17(iR) 10 ©
L it ADrain port DIN 3852 M33 x 2;16(iF) 2 o
L1 jttrjls ODrain port DIN 3852 M33 x 2;16(iR) 2 X
X =ik OControl pressure DIN 3852 M14 x1.5;12(F) 350 )
X $2#lJE S1Control pressure for DG control DIN ISO 228 G 1/4in;12(iF) 280 0
Ms il 2 &£ 51 B Measuring pressure B DIN 3852 G 1/4in;12(iF) 350 X

v DG - AEAESNXIEG v LADS - EA. mEThEE
268

40
133

beR=y ki prd=g: 0

&AM £THE 5 Y RN E
WRENE
v DRG -z 22 fl & 1 15 5 28 v ED7./ER7.-#Hzh[E ¥k 58
12
‘\‘\ 9 @ g :
) ‘ ! \ S
Al @J ¥
b e ®
148.4
bed=y iy =i 164.9 1E & IS £ % B9
WRENE RN E
v DRF/DRS-FE A f1 =42 1 88
93
=

EE A eS8
(RS A=

www.tot-hydraulics.com



oL HhYiRE

SpER ST #1#8140(32HI¥#ADR. DRG. DFR/DFR1)
Dimensions size 140(Control devices DR, DRG, DFR/DFR1)

H
1ISO 3019-2
o
Al
3 —
s o
S 3
i
S o
i
A
9
’k .
gis_ . M
-
i
S =
/) \50 4 3\ ><~
/ g ©
s [ ’ E Vi
N ﬁ Jr— ]
\ ITo)
<t| * N
S= <
FaX) — ©
/ A4 -
158.4
200
131 | 179.8
B ST SR
MR ERE
H{R Shaft

S 1425, 13T 8/16DP"

(SAE J744)
~ 67
a 32
(@]
10
= $4T¢
=
] o
S =S f g
53
75

P F4%h DIN6885,A12x8x68

82

81.5
36 S 14
1.5
3| 28 ii K o
o W s II N &
<t <
K
92 }

www.tot-hydraulics.com



oL HhYiRE

il O Ports FRAE A& Pmax [bar]| Xz
B il AOutlet port SAE J518 11/4in
, ‘ . - 350 o)
X E ¥4 Fastening thread DIN 13 M14 x 2;19(E)
S il OSuction port SAE J518 21/2in
10 O
K E M8 4 Fastening thread DIN 13 M12 x 1.75;17(iR)
L it ADrain port DIN 3852 M33 x 2;16(iF) 2 o
L1 jttrjls ODrain port DIN 3852 M33 x 2;16(iR) 2 X
X =ik OControl pressure DIN 3852 M14 x1.5;12(F) 350 )
X $2#lJE S1Control pressure for DG control DIN ISO 228 G 1/4in;12(iF) 280 0
Ms il € £ /1 B Measuring pressure B DIN 3852 G 1/4in;12(iF) 350 X
v DG - AR ESNREH v LADS - EA. mEfTh X
318
X
ped | — i —~ ) )
=T L\ B | @ &3 \ | g
_ L 4, 1 ‘/ ,\‘ s?
\(N \
= e e
163.3
179.8
& & By £HiE 4 89 1& & BT £t # 59
BREMNE RN E
v DRG -l & /1 = %1 88 v ED7./ER7.-Ea1E 154 28
238
X
&S
i A e
=
- @ 3
£
163.3
179.8
& & I B A % 89 & & I B £ % 89
BRENE WA E
v DRF/DRS-IE 7 f0iji &2 % 28
O
/ g
\ g
$ @ 3
£l
163.3
179.8

& & I £ HE 5 60
iR B B

www.tot-hydraulics.com




oL HhYiRE

i@ R~ Dimensions,, throug drive

%2 Flange ISO 3019—1(SAE) | 7&#Hub for splined shaft’ EHIM 5 Availability over sixes R
Ef&Diameter Symbol H 12 Diameter 45 71 100 140 Code
80-2 Sood 3/4in 11T 16/32DP ° ° ° ° uB2
100-2 Sood? 7/8in 13T 16/32DP ° ° ° ° UB3
® = Available - = Not available
v 80, 2-hole
M10;16(%)” M3 OF&
M2, HE uB2 NG M1 M2 M3
2{? 45 264 IRBEEEMHE
o
=H 71 299 21.3 | 406
i == § | (SAE J744 16-4(A-B))
> 100 360 19 38.6
140 377 19 38.6

lo

MIERZEE)

<

100, 2-hole

M12; 22 F)%

UB3 NG M1 M2 M3

45 264 18 41.7

71 299 | 20.3 | 44.1
(SAE J744 22-4(B))

100 360 18 41.9

140 377 18 41.6

MIERBEZ)

2 Flange ISO 3019-1(SAE) | 7£#Hub for splined shaft’ WS Availability over sixes RS
HfZDiameter Symbol H f#Diameter 45 71 100 140 Code
125-4 3 1in 15T 16/32DP (] ([ ] [ ] [ ] UE1
160-4 e 11/4in 14T 12/24DP - (] [} [} uB8
® = Available - = Not available
v 125-4
M12; 22 68) M3 Oﬂ UE1 NG M1 M2 M3
45 264
RIEEZEMHEK
71 299

(SAE J744 25-4(B-B))

100 360 18.2 46.9

140 377 18.5 45.9

=l
&
4& |

MIEREEZ)

v 160-4

M3 "

w2 |, e UBS8 NG M1 M2 M3
]
% T 71 299 | 20.1 | 58.1
100 | 360 | 19.8 | 56.4
g% (SAE J744 32-4(C))

g s 140 | 377 | 19.8 | 56.4
180 | 387 | 20.1 | 56.4

o

MI(EREEE)

1)30° EAhf, FER, MERE, NEFLS
According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
3)#F&DIN 13 H#E4 Thread according to DIN 13

www.tot-hydraulics.com



oL HhYiRE

% 2Flange ISO 3019-1(SAE) | 7¢##Hub for splined shaft’ @IS Availability over sixes S
EfzDiameter Symbol E &£ Diameter 45 71 100 140 Code
11/2in 17T 16/24DP - - [ ] [ UB9
180-4 e
13/4in 13T 8/16DP - - - [ ] uB7
® = Available - = Not available

UB2 NG M1 M2 M3
100 360 9 63.9
140 377 10.2 74.9

(SAE J744 38-4(C-C))

MIERZEZ)

v 180-4

158.4 M16; 22%) vs  OF®
A M2, ﬂj“
% N UB7 NG M1 M2 M3
- BIEL (SAE J744 44-4(D)) 140 | 377 | 104 | 77.4
Q Q)
e
MIEREEZ)
#%2Flange ISO 3019-1(SAE) | &% Hub for splined shaft’ &M A5 Availability over sixes 2
E{ZDiameter Symbol F f#Diameter 45 71 100 140 Code
Sood 5/8in 9T 16/32DP [} ° [ ] [ uo1
82-2 (A)
Sood 3/4in 11T 16/32DP ° ° ° ° us2
® = Available - = Not available
v 82-2 (A)
3 M3 _ o
A M10:166R) M2, | sm?

uo1 NG M1 M2 M3
45 264 | RFFEMHE

1 %lé 71 299 | 9.3 | 61.3
g (SAE J744 16-4(A))
100 | 360 | 105 | 65
. 140 377 RIBEZHE
MUZEREEZ)
v 82-2 (A)
Of@

;,,g UB8 NG M1 M2 M3
e
jk 45 264 | 18.6 | 38.7
|-= 71 299 | 20.7 | 41.4
T (SAE J744 19-4(A-B))
4§5 100 360 17 38
oS
iR 140 377 19 38.6

MIERZEE)

1)30° ENf, FiEIR, MERS, NEFRS
According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
3)#FFADIN 13 By4E4Thread according to DIN 13

www.tot-hydraulics.com




oL HhYiRE

B R~ Dimensions,,

throug drive

% 2Flange ISO 3019-1(SAE) | £ Hub for splined shaft’ M5 Availability over sixes RS
E fZDiameter Symbol H f£Diameter 45 71 100 140 Code
Sood 7/8in 13T 16/32DP ° ° ° ° u6s
101-2(B) e
Sood? 1in 15T 16/32DP ° ° ° ° uo4
® = Available - = Not available
v 101-2 (B)
12, 228 ues NG M1 M2 M3
45 264 18.2 | 415
71 299 19.7 | 4441
(SAE J744 22-4(B))
100 360 17.4 | 41.3
140 377 17.4 | 41.6
MIEREEZ)
¥ 101-2 (B)
M12; 2208 VB C;_;‘%
2o/ uo4 NG M1 M2 M3
. 45 | 264 | MEREHE
HE 71 209 | 20.8 | 49.1
§ - g8 (SAE J744 25-4(B-B))
519 100 360 17.6 | 46.6
3 140 377 17.9 | 46.3
.9
MIEREEZ)
2 Flange ISO 3019-1(SAE) | 7£#Hub for splined shaft’ WS Availability over sixes RS
HfZDiameter Symbol H f#Diameter 45 71 100 140 Code
1in 15T 16/32DP ° ° ° ° UE2
127-4 (C) 83
11/4in 14T 12/24DP - ° ° ° uis
127-2 (C) Sood? 11/2in 17T 12/24DP - - ° ° u24
® = Available - = Not available
UE2 NG M1 M2 M3
¥ 127-4 (C)
. ) 45 264 | 18.7 | 46.6
M12; 22(7)% ; 02?%
] 127-4 (C) 4 299
100 360 RIBEE Mk
140 377
u15 NG M1 M2 M3
71 299 | 21.8 | 58.1
MIEREEZ)
100 360
127-4 (C) RIEFEMHEK
v 127-2(©) 140 377
u24 NG M1 M2 M3
100 360 | 21.5 | 62.3
127-2 (C)
140 377 10.5 | 62.3

1)30° EAhf, FER, MEES,
pressure angle, flat root, side fit,tolerance class 5

According to ANSIB92.1a,30°

NEERS

3)#F&DIN 13 H#E4 Thread according to DIN 13

www.tot-hydraulics.com




oL HhYiRE

% 2Flange ISO 3019-1(SAE) | 7¢##Hub for splined shaft’ @IS Availability over sixes S
EfzDiameter Symbol E &£ Diameter 45 71 100 140 Code
11/2in 17T 12/24DP - - [ J [ u96
152-4(C) 3
13/4in 13T 8/16DP - - - [ ] utz
® = Available - = Not available
v 152-4 (C)

u96 NG M1 M2 M3
100 | 360
152-4(D) RIBEEHE
140 | 377
MIEREEZ)
v 152-4 (C)
616 M16; 225" M3 OFE
[P
I u17 NG M1 M2 M3
& =13 152-4(D) 140 | 377 11 77.5
8

MIEREEZ)

1)30° ENf, FiEIR, MERS, NEFRS
According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
3)#& ADIN 13 B4 Thread according to DIN 13

www.tot-hydraulics.com




